A6 2 A1 HEBE (o Ad : HRADA)

KM 4 g [ |5 (A) | R [ & (B) | HE# | EF(A+B)
T 2, 462 3 2, 764 5 2,799 0 5, 563
T —TH 979 -9 893 —4 790 -5 1, 683
PR — T H 567 6 536 6 561 4 1,097
e =T H 632 -2 691 -9 647 -2 1,338
JHPTETIUT H 479 -3 496 -1 519 1 1,015
4R T H 326 -1 352 -3 325 1 677
JHPTHT ST H 299 3 362 4 383 2 745
Lo HT 199 -1 196 -1 207 -1 403
=a 377 -1 443 0 456 -1 899
T H 1,906 2 1,973 4 2, 020 1 3, 993
PIHTHT 329 -2 330 -1 325 -2 655
Hh T H 924 4 980 6 950 3 1,930
HT—TH 278 -1 351 -1 397 1 748
T — T H 321 -3 417 —4 432 -2 849
HHT =T H 488 1 677 2 640 -2 1,317
BT B 296 -1 397 -1 390 -2 787
A 233 1 257 0 249 0 506
] = 291 -1 349 0 332 -2 681
— K 439 -3 447 -3 456 -2 903
— YV AREH—TH 0 0 0 0 0 0 0
=YAREMTTH 32 1 44 1 42 0 86
GIEL 106 0 121 -1 120 -1 241
— Y KHH 5 0 5 0 5 0 10
KH » 5 683 3 854 0 861 3 1,715
R4 4,511 -8 4, 841 -6 4, 990 1 9, 831
IR 4,638 -2 4, 472 -10 4,522 -15 8, 994
E A 1, 396 5 1,501 6 1,536 8 3, 037
i) 5 0 7 0 6 0 13
EtR—TH 897 -3 760 -4 918 -2 1,678
BH5+HHR_TH 1,088 -8 1, 064 -13 1,121 -5 2, 185
EtR-TH 847 3 769 -3 829 2 1,598
& LRI TH 701 1 638 1 703 1 1,391
BRI H 711 -2 757 1 669 -3 1,426
& LR TH 0 0 0 0 0 0 0
e 1,874 -8 1, 894 -1 1,778 -9 3, 672
¥y —T1H 290 1 294 0 292 3 586
¥y T H 238 0 250 -1 244 3 494
sy o ="TH 431 4 431 3 448 1 879
¥ U T H 675 -8 653 —6 708 -9 1,361
nr T H 416 1 467 3 492 -1 959
mEiT—TH 256 -1 299 -2 336 -1 635
FEET T H 578 2 569 -1 615 -1 1,184
PRI =T H 190 2 185 1 229 4 414
2} 32, 393 -25 33, 836 —26 34, 342 -33 68, 178
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